SOSOH JIV

"

=

)

‘swlel) 9yl 01Ul Jayny
way1 ysnd ‘sjpued wie ayl

pulje1IsSul ajiym wsayl buiyouid

ploAR O] ‘Apod Jieyd ay}

lenuep Jasn

Jrey) abessew
Xew av spesiied

sleyD abessen
Xew av spesiied

(sod 2)
sped 1004

(1) 3sa13004

1O 9pPIS Y1 UO Sasoy Jle 91ed07 9 <€ Xog
g days ALINIANI ALINI4NI LI J
N
"YD1UIMS Jomod ulewl JJO uiny
‘DSUIDSJ A“nJ SDUO pSUIDSJ pied J19p|oH 2loWsy
AN s1 JIeyd 8y} [13UN UOUNG faueLiem 12(0eL oL oo
umop 3snfpe xaeq ay3 pjoy 1z xog
pue ssaid usyl pue ‘UsalIds Y )
sjuswisnipe sy) 0] a1ebiAeu P N
‘U80S aWwoy ayl Wold4 "uo
Jomod 0] a10ual 192|gel @yl uo xog A10SS220yY
uo1INg Jamod ay) ssaud ‘suloal JENITe 0105 JoMOd @
(1N} Ul ApeaJje 10U SIJieyd auy 4| MI2S
:p do1s 0 sdiiud @%@

Apog Jeyd

Aoy XxoH 8N osnd

/@&

"9210J 10U 0 "uUs15e}

01 BuUll [18W UO MBIdS
‘Builissul 810)aq 140d 10wl
19|gel 8yl uo yd1ou syl yiim

dn ssul| pJOD 910Wal 19|g€] (s2d ) WwiyZ X 8N HUBYSBAA
U1 uo q:nﬂou ay1 ainsug (s5d 7) WW 91 X §W /08
"us1se) pue APOQ JIeyd ay)
Sl J0 1UBLI U0l B3 UO Pa1edo) (sod ) ww oy X 8w Alog
1jod sjowal 18|ge) sy) ol xog A10ssa20y :L xog
1iod aj0Way 19198 L PJOD 10Wsal 18|gel 8y} bnid e N /\
‘g dais ‘aseyaind jo acse|d ayj 03 uin}ai Jou og ‘000S-0L6-E09

1e ALINIANI 1orlU0D 3seald ‘Buissiw si BuiylAue j|

*JOJ PSIUNODDE BJE SIUSIUOD [|@ 34NS SYRN 'MO|S] [Ie18p 8] O1
SIUSIUOD XOg 28YD "SIUSIU0D X0 || ¥oedun Ajjnjaied ‘A|quiasse o) Jold

;L da1s

‘U0 01 Yd1IMS Jamod ulew
oY1 dij4 Jreyd ayy Jo aseq

9yl JO SpIs Xoeq oyl uo
1J0d aAllDadsal ay) 01Ul 1l
Bn|d pue 13]1N0 |eD1I1D3|S
AOLL POPUNOIB B 01 PIOD
Jamod Jieyd ayi 108UU0)

usUMSs
19MOd Ule

Mod pJod
J13MOd

see=—"5

*aA0ge THN SUl 01 AJ30a.ip OB 01 3POd YO Y3 UedSs ‘A|oAlIRUISY Y

:z days sjel103N}-A|quiasse/wod siieydabessew U uI MMM
Je 09pIA A[quiasse ue yoiem ‘dieyd JNoA Buljquuasse a1049g
Final Check:
Double check that all airhose and electrical
wires are still firmly connected in the back
of the chair under the armrests. You can see
the connections in the back of the chair, Chair Body ﬁm\lzgfels
underneath the arms when fully upright. Air Hoses

INFINITY

MASSAGE CHAIRS

PRI IR

C (Xﬁ?&?&?&!&'/l
L N[ /
3 /R

Zipper the closure
between the Footrest
and Chair Body

Assembly
Guide

Ensure the Footrest assembly
swings freely up and down,
Electrical connections are
firmly attached and air hose is
secure. Remove the foot pads
to increase foot roller
intensity, if desired.

Review chair for smooth operation. If things are not operating correctly,
review all assembly steps. Call Infinity support at 1-603-910-5000 if you
need live US-based support.

Power on the
tablet and select
AUTO program to
start a session.

You are done; time for a Massage!

Register your product at www.infinitymassagechairs.com/
warranty to ensure it is in our system. This will simplify the
warranty process should you ever need it.

Palisade 4D Max

Massage Chair

Alternatively, scan the QR code to go directly to the URL above.

INFINITY

72 Stard Road, Seabrook, NH 03874 | (603) 910-5000 | www.infinitymassagechairs.com

Version 1.0

SCAN CODE



INFINITY

MASSAGE CHAIRS

Step 6: . Step 7: A .

Determine the left arm panel Chair Body Rail -~ T 0 To attach the arm panel to the Chair Body Rail

from the right and place next sﬁ%\?«‘// chair body, place the arm panel

to the correct side of the chair. )N Y/ clip over the chair body rail. Arm Panel
Note the locations of the arm A= Clip

panel clip, chair body rail, arm

panel pin and the chair body { T~ Chair Body Hook
hook. ‘ ‘ﬁ _ )
Arm Panel Pin
Arm Panel
Side Indicator
Step 8:

Ensure the arm panel clip remains on the chair body rail as you lift up the Chair Body Hook

front of the arm panel slightly. Place your free hand on the back of the arm
panel pushing it in towards the chair body, then push down on the front of
the arm panel and slide the arm back so that the chair body hook aligns
with the arm panel pin. Make sure that the hook and the pin are firmly in

place before moving onto the next step.
Arm Panel Pin

@ M8 x 16 (Short Bolt)
Step 9: ® M8 x 24 (Washer)

@— M8 x 40 (Long Bolt)
Step 10: M8 x 24 (Washer)

Next, locate the screw
holes underneath the
shoulder airbags. Pull back
the Velcro cover and insert
the long silver screw and \
washer. Tighten by hand,
then finish the whole side
with the hex key. Close
velcro back up.

To secure the arm panel to
the chair body, Locate the
screw holes by the foot
well of the chair body and
insert the short black screw
and washer. Hand-tighten.

W=

Tablet

Tablet Tablet Holder Remote

Step 11 Holder Mount Step 12:

Locate the tablet holder Turn the main power Fully Reclined
from the accessory box. . . switch on. Press the

Place the tablet holder into power button on the

the tablet holder mount, tablet remote. From the

making sure to line up the Mount home screen, navigate

bottom post of the tablet Fastener to the adjustments 2

holder with the inside of screen, and then press _ ' Fully Upright
the mount, screw down and hold the back adjust Main Power Switch

mount fastener to secure.
Place the tablet remote
into the tablet holder.

up button until the chair
is fully upright.

Step 13: Step 14:

To finish each arm, locate the = @ Remove the footrest from its packaging and position it in front of the

air hoses you previously — main chair body. Connect the footrest by attaching the white plug from
tucked into the chair body the footrest into their respective port on the body of the chair. Ensure
frame and connect to the air e o the thumb release is facing up and push in until it clips. Slide the air hose
nozzles located on the back ' onto the white air nozzle.

of the arm panel. Make sure ) ) N

to connect the corresponding /[

@

hoses to their nozzles by e
matChmg the numbers. Note: ook at the back side

Repeat on other side. of the chair, under the arms
to find these connections.

Air nozzle «———» Air hose Se——
Leads
Footrest drive Footrest drive § from the

connector port connector plug Footrest

Chair Body

Footrest Pin Clip
Step 15:

Before attaching the

footrest to the chair body,

Remove the clips on the completely onto the chair body

chair body pins by sliding pin. Fasten the clip over the pin

up. (If Clips are missing, Chair Body to secure. Carefully align the Chair Body | Mounting Bracket
. . Footrest Pin . . Pin

there are spare clips in the other side of the mounting

Accessory Box) bracket with the remaining pin

and slide it on too. Make sure to

center the footrest, then fasten

the remaining clip over the pin to

secure both sides of the

footrest.

Step 16:
Lift the footrest and slide one
side of the mounting bracket

Chair Body
Footrest Pin




